OO

VW-1234
[ 1] 6,600 200
[mi] 1,200
] 7
0.80
[kw] 914.2
[kw] 161.0
[kW] 69.38 71.5 232.5
7 32 27
10 11 12
[ 11 30 31 30 31 31 30 31 30 31 31 28 31
1l 90 90 | 100 | 200 | 200 | 200 | 90 20 70 60 60 70
3.9 |
> [ 1
10 11 12
154 136 119 109 108 117 135 156 177 189 177 167
@2 8 )
10 11 12
6.0 | 5.3 | 4.6 | 4.3 | 4.2 |4.6 |5.3 |6.1 |6.9 |7.4 |6.9 |6.5




OO
W-1234
[ 1 6,600 200
[m] 1,200
1 7
0.80
[kW] 914.2
[kw] 161.0
[kW] 69.38 71.5 232.5
7 32 27
)
4.19[M)/  ni]
10 11 12
[ 1] 30 31 30 31 31 30 31 30 31 31 28 31
1 90 90 100 100 100 100 90 90 70 60 60 70
/
| 3.9 |
> [ ]
10 11 12
154 136 119 109 108 117 135 156 177 189 177 167
22 8 )
10 11 12
6.0 [ 5.3 | 4.6 | 4.3 |4.2 |4.6 |[5.3 |6.1 |6.9 |7.4 |6.9 [6.5

x x x
[MJ]
1,200 = x| 0.80 (%< . [MJ/ %] 28,156.8 ([MJ
[T] = ( =<
28,1568 | MJ 9142 |kW < 3.6[MJ/KWh]
8.6 oK
T 10 T
x( >
=< 914.2|kW < 3.6[MJ/kWh] 329112 (MJ
35,196 41,173 51,009 56,386 57,729 51,009
[kwh] 10 11 12 1 2 3
41,173 34,619 24,598 19,659 19,043 26,111
i ( )
| <
| > 3.6MJ/Kilh 2
! 28,157 MI><  100% < 31
: 57,729 kWh
| 4.2 > 3.6  MJ/KWh




[ ]

OO
YY-1234
[ 1 200
[ni] 200
1 7
0.80
[kw] 150
« ) [kw] 43
[kw] 1.6 44 .8
[kw] 150
() [kw] 44
[kw] 1.6 45.5
35 7
7 45
[ )
10 11 12
[ 1] 10 20 20 20 20 20 20 20 20 10
[%] 60 100 | 100 | 100 | 100 70 | 100 | 100 | 100 | 70
| 3.3 | | 3.3 |
< > [ 1]

10 11 12

214 193 162 139 135 154 192 214 214 | 214 214 214

118 126 @ 126 | 126 | 126 126 @ 126 115 99 92 98 105

(22 8 ) « )

10 11 12
6.5 [ 5.4 | 4.7 |45 |[5.2 3.8 | 3.3 | 3.0 [3.2 |3.5




oo

YY-1234
[ 1 200
[mi] 200
] 7
0.80
[k 150
) [kw] 43
[k 1.6 44.8
[kw] 150
) [kw] 44
[kw] 1.6 45.5
35 7
7 45
4.19[M)/ ni] )
10 |11 |12
[1 10 | 20 | 20 | 20 | 20 20 | 20 | 20 | 20 | 10
[%] 60 | 100 | 100 | 100 | 100 70 | 100 | 100 | 100 | 70
3.3 | | | 3.3
> [ 1
10 11 12
214 193 162 139 135 154 192 214 214 214 214 214
118 126 126 126 126 126 126 115 99 92 98 105
(22 8 )
”
10 |11 |12
6.5 | 5.4 | 4.7 | 4.5 [5.2 3.8 [ 3.3 | 3.0 |3.2 |35

[MJ] > > >
200 x| 7 =<| 0.80 |x< M3/ 3 46928 [(MJ
[T] = >
46928 | MJ = 150 |kW =< 3.6[MJ/kWh]
87 OK
10 T 10
><( >
” 150  |kW > 3.6[MJ/kWh] 54000 |MJ
1,203 4,828 5,547 5,794 5,014
[kiih] 10 11 12 1 2 3
4,803 7,900 8,690 8,147 2,607
) i
| ( ) % i
; > 3.610/Kih * :
5 4,60.8 Wx  100%  x 20 |
i 45 x 3.6 NI/ 51 W
) i
| x 9 i
; > 3.6HJ/KIIh :
| 4,692.8 W 100%  x 20 i
; 32 x 3.6 WK B.ur Who



OO
XX-1234
[ 1] 6,600 200
[mi] 200
] 5
1.00
IPF [ 1 60
C ) [k 1,301.0
[kW] 319.0
[kW] 69.38 71.5 390.5
-5 30
(IPF)
10 11 12
[ 11 30 31 30 31 31 30 31 30 31 31 28 31
1| 30 40 50 | 100 | 100 | 100 | 50 30 30 20 20 20
/
3.3
> [ 1
10 11 12
135 122 110 103 102 109 122 136 149 154 150 144
22 8 )
10 11 12
45 4.0 | 3.6 |3.4 |3.4 |3.6 4.0 |45 [4.9 [5.1 |[5.0 | 4.8




45 | 4.0 | 3.6 |3.4 | 3.4 |3.6 |40 |45 |49 |5.1 |50 |48 3.4 > 3.6 MJ/Kih

oo () =< > =<
[(MJ]
XX-1234
200 =<| 5 x| 1.00 |=< . [MJ/ 3] 4,190.0 [MJ
[ ] 6,600 200
[ni] 200 () =< |PF+100
= [(MJ]
] 200 [t] <[ 60| = < 334.88[MJ/i] 40,185.6 |MJ
1.00
IPF [ 1 60 () ()
[(MJ]
( ) [xq 1,301.0
4,190.0 (MJ 40,185.6 |MJ 443756 [MJ
[k 319.0
[kW] 69.38 71.5 390.5 [T] = ( >
" 20 443756 MJ = 1,301 |kW > 3.6[MJ/kWh]
(1PF) )
4.19[M)/  ni] 334.88[MI/t] 95 OK
T 10 T 10
10 11 12 < ( >
=< 1,301 (kW > 3.6[MJ/kWh] 46,8360 (MJ
[ 11 30 31 30 31 31 30 31 30 31 31 28 31
1 30 40 50 100 100 100 50 30 30 20 20 20
24,653 38,212 51,361 112,389 112,389 102,721
/
[kwh] 10 11 12 1 2 3
3.3
47,765 24,653 23,395 14,985 13,806 15,922
< > [ ]
10 11 12
135 | 122 | 110 | 103 | 102 | 109 | 122 | 136 | 149 | 154 | 150 | 144 i |
22 8 ) ( )
| < |
1 > \
~ i > 3.6MJ/KWh !
10 11 12 i Y |
i 44,375.6  MI><  100% < 31 12,388 Kih |




OO

W-1234
[ 1 200
[MJ] 350
[kwh] 35.1
[MJ] 102
[kwh] 9.15
25 0
10 11 12
[ 1 10 20 20 20 20 20 20 20 20 10
%1 80 100 100 100 100 80 100 100 100 80
> [ 1]
10 11 12
141 119 106 98 96 104 119 145 153 153 153 153
153 185 185 185 185 185 185 148 123 112 122 132
22 8 ) C )




OO
W-1234
L 1 200
] 350 236 662 716 731 675
[kwh] 35.1 [KWh] 10 11 12 1 2 3
mJ] 102 99 149 163 150 55
[kWh] 9.15
25 0 e k
) :
( !
10 11 12 ( )< ( )= ;
35.1 kWwh/ > 100% = 96Y% x< 20 731 kWh i
[ 1 10 20 20 20 20 20 20 20 20 10 ;
%] 80 | 100 | 100 | 100 | 100 80 | 100 | 100 | 100 | 80 (
(= ()= !
9.15 K/ > 100h+ 122%x< 20 150 Kiih
> [ _____________________________________________________________________________________________
10 11 12
141 119 106 98 96 104 119 145 153 153 153 153
153 185 185 185 185 185 185 148 123 112 122 132

(22 8 )




OO

VW-1234
[ 1 200
] 4,089
( [KW] 146
[KW] 66.4
[k 0.0 66.4
MJ] 717
[kW] 175
[k 80.0
[k 0.0 80.0
25 0
10 11 12
[ 1 10 20 20 20 20 20 20 20 20 10
[%] 80 100 100 100 100 80 100 100 100 80
/
| 2.2 | 2.2
> [ 1]
10 11 12
139 121 108 98 96 105 120 142 149 149 149 149
126 134 134 134 134 134 134 124 114 109 114 119
22 8 ) C )
10 11 12
2.7 2.4 2.2 2.1 2.3 2.7 2.5 2.4 2.5 2.6




OO
W-1234
[ 1 200
[MJ] 4,089
C ) [k 146
[kW] 66.4
[kw] 0.0 66.4
[MJ] 717
[kw] 175
[kw] 80.0
[kw] 0.0 80.0
25 1
( )
10 11 12
[ 1] 10 20 20 20 20 20 20 20 20 10
[%1 80 100 | 100 | 100 | 100 80 100 | 100 | 100 | 80
/
| 2.2 I | 2.2 |
< > [ ]
10 11 12
139 121 108 98 96 105 120 142 149 149 149 149
126 134 134 134 134 134 134 124 114 109 114 119
22 8 )
>
10 11 12
2.7 2.4 | 2.2 [2.1 ] 2.3 2.7 |25 | 2.4 |25 | 2.6

[MJ] 4,089 |[mJ]
4089 |[MJ] = 1460  |[kW]x3.6[MI/KWh]
7.8 [ ] 10 )
10 -10
[MJ] 10[ ]x
10[  ]x 146 |[KW]x3.6[MJ/kWh] 5256 1]
3,365 9,465 10,326 10,817 9,877
[kWh] 10 11 12 1 2 3
1,180 1,593 1,660 1,593 613
)
| (M) >
! SENT
! 4,080 Wx  100%  x 20
| 2.1 x 3.6 WJ/KIh 10,817 kit
i ( )
i (M) >
! SEXNT
! 77 W< 100% > 20
! 25 x 3.6 WJ/KIh 1,593 kit



